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1 2,406
21
1 2,406
18 21
1 3,046
600
1
9
1 1,000
3,000 1,000
420
1,000
6,837
75
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93,267 68,379 18 21
1,089 1,089 18 21
24,287 24,287 18 21
1,287 1,287 18 21
4,637 4,637 18 21
9 9 18 21
BSE 2,540 2,540 18 21
DNA 690 690 18 21
281 281 19 21
434 434 19 21
3,970 9,527 19 21 + 1,000 x 0.8x 3,000
2,026 4,823 19 21 + 420 x 1,000
500 500 21
28 28 18 21
1,656 1,656 18 21
136,701 120,168
136,701 120,168
105 105 18 21
40 40 18 21
25 25 18 21
28,740 25,866 18 21 x 0.9
0 0 18 21
0 0 18 21
5,104 4,593 18 21 x 0.9
0 0 18 21
421 421 18 21
118 118 18 21
1,656 1,656 18 21
6,523 6,523 18 21
108 108 18 21
57 57 18 21
8,596 8,596 18 21
32,208 25,766 18 21 x 0.8
1,045 1,045 18 21
2 2 18 21
37,609 37,609 18 21
50 50 18 21
4,734 4,260 18 21 x 0.9
-3 -3 18 21
2,230 2,230 18 21
235 235 18 21
507 507 18 19 21
358 358 18 21
0 0 18 21
130,467 120,168
6,234
136,701 120,168
4,159 4,159
410 410
4 4
217 217
542 542
2 2




-m-- 18

500 --- 19

400

300

200

10 11 12 3
4 6 |7 |8 |9 |10 [11 |12 |1 |2

18 386 329| 373| 386 379 300 361| 431] 402 297 305/ 320| 4,269
19 314| 311| 295| 369| 284| 281| 345\ 351| 425 315| 287| 334| 3911
20 386| 328| 286| 449 271 396 452| 336| 434 289 290| 362| 4,279
21 444| 309| 343| 425 305| 440| 369 316| 375 296| 238| 316| 4,176
22 314| 245| 271| 346 277 260 236| 343 389
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AA  y=0559x + 54636
R% = 0.4522
125,000
124,060
120,000
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